[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

2 2 2 2
Q Q [} Q
< < g g
[} (0] [
E g S 107}
a
=]
k=]
1072
107
° ° o o
T © T T
['4 24 o 24
0.5
10 12 14 16 18 20 6 8 10 12 14 16 18 20 5 4 6 6 10 12 14 16 18 20 © 2 4 6 8§ 1012 14 16 18 20
track x2 track x2 track x2 track x?
[ pENoTatStepP—yrimeo et
[ Nof reco track vs. 4 Bé B]ll(% em'p §é°§9@e§a18‘tfto]2°o etalp4tolp6
2 2
Q Q
<l 5
- ®
E

Ratio




	Contents
	Page 1


